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DJO00O0OO0OfendO 10000000 ODO0D0OOOxxO.O00OO
OO0computeQU O O0OOxxOOOOO Dodd, 0 00O
Oeven, O Oaverd O O Ototfc O, 0 00O OO O writedat()
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#include #include #define max 1000 int xx[max], odd =0, even =0.
double aver = 0.0, totfc = 0.0 . void writedat(void) . int
readdat(void) { file *fp . int i,j. char c,str[20]. if((fp = fopen("fc.in",
"r'")) ==null) return 1. fexxx*eeaex] [ ] 00 00O O 0O xXx

[] #F*Fxxerxkk*/for(i=0.1{] = 0. while((c = (char) fgetc(fp)) !=
eof) {if(c==", ){str[j]=" \0" .break.}elseif(c!=" \n’
amp.c!=" \r YO OOoOogoad*/{str[j]=c.].}}xx=
atoi(str). if(c == eof) break. } fclose(fp) . return 0 . } void
compute(void) {inti. long count = 0. for(i = 0. i { if(xx &amp. 1)
odd . else even . count = xx. } aver = (double)count/max. for(i=0. i
totfc = (xx - aver)*(xx - aver). totfc /= max. } void main() {int1i.
for(i=0.1if(readdat()) { printf("Cl U O O fc.inJ O O 0O NOO7\n") .
return . } compute() .
printf("odd=%d\noven=%d\naver=%If\ntotfc=%If\n", odd, even,



aver, totfc) . writedat() . } void writedat(void) { file *fp . int1.fp =
fopen("fcl.out", "w") . fprintf(fp, "%d\n%d\n%If\n%If\n", odd,
even, aver, totfc) . fclose(fp) . } 100Test U O D O O O OO O O O
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